COP 2210

Laboratory 5: Selection Constructs  
     
Objectives: 

To be able to solve problems using if-, if-else and switch
Your Name:____________________________________
Panther-id#:_______________________
Download the Lab6 Java source files to your Lab6 folder. 
Exercise1:
Complete the CollegeYear.code() method.
· Run The CollegeYearTester program as is. It produces correct output only when the input is 90 or greater. Try several different inputs from 0 to 120.
       Check:__
· In the code() method 
a) Replace the statement code = 4 with a (nested) if-else to return 2 when the value of credits is under 60, 4 otherwise. The Year # output should now be correct for any input of less than 60 credits.




       Check:__
b) Repeat this strategy to add another (nested) if-else to return 3 when the value of credits is under 90, 4 otherwise. Now the Year # output should be correct for any credits input value. (other output may be incorrect)


       Check:__
c) Re-structure your code to resemble a 4-way if-else structure 
       Check:__
Exercise 2:
Complete the CollegeYear.name() method:
· The method uses a switch statement. It always returns “Senior” because the cases, when entered, are not exclusive – execution falls through to the next case unless the switch is explicitly exited. Add a break statement into each case. (The break forces a switch exit.) The output names should be correct now. Test your program on several input values for credits.



        Check:__
· Replace the assignment statement in each case with a return statement to directly return the appropriate name. You should now have several “unreachable code” error messages because the break statements now follow return statements. Remove the break statements, and correct any remaining errors.


        Check:__
Exercise 3:
Modify the CollegeYear.classification() method: 
· The switch’s execution fall through can be exploited to reduce coding effort by grouping cases with identical code together. Erase the return statement in each of case 1 and case 3. The method should still be correct.

        Check:__
Exercise 4:
Complete the RetirementEligibility.eligible() method. 

· Each criterion combines 2 conditions, both of which must be true, using (and) &&. The result combines the criteria, only one of which must be true, using (or) ||.
Replace the return value, true, with a boolean expression that combines the variables age and yrs and operators && and ||.


        Check:__
